10

d = 14
gailszaanmsatens

v

UNTYUTINITOHINAUINUDINAY

&

aauN 1

=

gy linuaassuisausuula

AaA o
IEM

3
(a2}
=

34+15+26 = |

3.4
+




/%;2 42+176+28=[ |

11

/%;3 652+379+448=[j

35 6.5 2
+
4.4 8
1.0
+
3.79
(1.0
1213 1 /




12

/%gdn 259+ 1.5+541=] |

35 2.59
+ |
a Y
5. 41 Aalvaque
Fezuan
8.00 !

L 19 mudeu
1.50 L _

b

/%;1 6.28+3.5+250 =|_|




13

@4 23.21+11.32+2.79=[ | @5 4.77+623+2.99=] |
B B
ADU e A’// L2 13 1 N 4’//

@6 76.25+1020+2.8=[ | ﬁ7 8.7+16.04+7.96= |
AaA o AaA o
AN e AN e
191

A ~ 2
L T L — ¥u 1.5

< Ay v
ASUHUIOY 31 ASUUY ﬂ%lluu'ﬂllﬂ ............. ASLLUU




